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ERROR DETECTION




Q.1. The climate (1)/ of Mumbai (2)/ is better

than Hyderabad. (3)/ No error (4)

Answer: (C) is better than that (climate) of
Hyderabad is the right usage.



Q.2. He was for all (A)/ selling the car (B)/ and

buying a bicycle. (C)/ No error (D)

Answer: (a) be all for something/for doing something :
to believe strongly that something should be
done; in favour of Hence, He was all for is the

right usage.



Q.3. Neither of the scout leaders know (1)/

how to trap wild animals (2)/ or how to

prepare them for mounting. (3)/ No error (4)

Answer: (a) Neither of is followed by a Plural Noun/
Pronoun but agrees with a Singular Verb. Hence,
Neither of the scout leaders knows is the right

usagoe.



Q.4. (P) We will pack not only (Q) the material
properly (R) but will also deliver it to your

valued customers. (S) No error

Answer: (a) The part (P) has an error.

When we use not only.. but also, same part of speech
should be used before both. Hence, we will not
only pack is the right usage.



Q.5. My father, (1)/ though old, (2)/ goes

everywhere by foot. (3) No error (4)

Answer: (¢)
go on foot : walk



Q.6. I always enjoy (1)/ to read (2)/ books. (3)/

No error (4)

Answer: (b) Here, Gerund i.e. reading
is the right usage.



Q.7. One of my student (1)/ has gone (2)/ to

New York. (3)/ No error (4)

Answer: (a) One of is followed by Plural Noun/Pronoun.



8. Due to his negligence,/ he fail / in the

examination./ No error
a) he fail
b) in the examination.

¢) Due to his negligence,

d) No error

(a) “failed” will replace “fail”



9. Today people is ignorant / of the things

that / are happening around them. / No
error
a) of the things that

b) are happening around them.

¢) Today people is ignorant

d) No error
Answer: (¢) People is a Plural Subject. Hence, Today

people are (Plural Verb) ignorant is the right

usage.



10. The teacher prevented / the boys / to go

there. / No error
a) the boys
b) to go there.

¢) The teacher prevented

d) No error

Answer: (b) Here, prevented the boys from going
(Gerund) to..... should be wused, not an

infinitive.
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11. Even though Akshay does not study

hard, he always comes first in his class.

A. completes
B. arrives
C. stands

D. scores

C. stands



12. The scheme failed for want of adequate funds.

A. necessary
B. sufficient
C. recommended

D. required

B. sufficient



13. Find the synonym of Confess

a) Admit
b) Affinity
¢) Moving

d) Sincere

a) Admit




14. Find the synonym of Brittle

a) Devitalised
b) Frail

¢) Dormant
d) Trickery

b) Frail




15. Find the synonym of Bizarre

a) Useless

b) Unusual
¢) Bully

d) Celebrate

b) Unusual
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16. We also gained (a)/ ample (b)/ experinece (c)/

in the banking sector. (d)

Answer: (c) experience



17. Select the correctly spelt word.

A. ammusement
B. amusemant
C. amusement

D. ammusemant

C. amusement




18. Select the correctly spelt word.

A. Obeisance
B. Obeisanse
C. Obesanse
D. Obesance

A. Obeisance
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19. Select the incorrectly spelt word.
A. Finance
B. Century
C. Sponser

D. Remember

C. Sponsor



20. Select the correctly spelt word.

A. Consenssus
B. Conssensus
C. Conssenssus
D. Consensus

D. Consensus




SENTENCE
IMPROVEMENT




21. He was so tired that he could barely

keeping his eyes open while driving.
a) can bare keep
b) can barely keep
c¢) could barely keep

d) could bear to keep

Ans. c¢) could barely keep
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22. The boss said, “I shall look at the matter”.
a) into
b) about
¢) in

d) No improvement

Ans. a) into
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23. Exercise is benevolent to good health.

a) beneficial
b) beneficent
¢) bounteous

d) No improvement

Ans. a) beneficial



24. We are quite sure that he will have proved

his merit in any forthcoming competition.
a) will prove
b) will have to prove
¢) will be prove

d) would be proven

Ans. a) will prove



25. One of the main function of the State is

maintenance of law and order.
a) main functions off
b) main functions for

¢) main functions of

d) main function for

Ans. ¢) main functions of



SV MISSION SSC 2023 /

D Home Work Answer

The continued

P. the growing sales of sneakers

Q. dominance of the athleisure trend
R. along with the pursuit of comfort
S. has had a significant impact on

1. PSRQ 2. RPSQ

3. QRPS 4. QSPR




D Home Work

More he gets, more he wants.
a) more gets, the more

b) the more he gets, the more
c¢) the more he gets, more

d) No improvement
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